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K1 BREHESIRR -EE

“oram | am | een RS ke | s | iew | otan | otem | 27 |7 ros | TR DL
e TR (B mg/1)| (BEAL: mg/1 )| (HEAL: mg/1 )| (AL mg/1 )| (HEAL: mg/1 )| (AL mg/1)| (EAL: mg/1)| (RAL: mg/1)| (AL mg/1)| (AL mg/1)| (FAAL: me/1)[ (HAL: meg/1)| (EAL: mg/1)| (BAAE: mg/1)
Aa (2,3,6,8,9) < 0.0003 | < 0.01 <0.1 < 0.0005 | < 0.001 | <0.001 | <0.001 | <0.08 <001 < 00003 ] < 0.002 [ <0.0006] < 0.1 < 0.0005
Ab (2,3,6,8,9) < 0.0003 | < 0.01 < 0.1 <0.0005] < 0.001 | <0.001 | <0.001 [ <0.08 <001 < 00003 ] < 0.002 [ < 0.0006]| < 0.1 < 0.0005
Ac (2,3,6,8,9) < 0.0003 | < 0.01 <0.1 < 0.0005 | < 0.001 | <0.001 | <0.001 | <0.08 <001 < 00003 | < 0.002 [ <0.0006] < 0.1 < 0.0005
Ad (2,3,6,8,9) < 0.0003 | < 0.01 < 0.1 < 0.0005| < 0.001 | <0.00L | <0.001 | <0.08 <001 < 00003 | <0.002 | <0.0006| < 0.1 < 0.0005
Ae (2,3) < 0.0003 | < 0.01 <0.1 < 0.0005 | < 0.001 | <0.001 | <0.001 | <0.08 <001 < 00003] < 0.002 [ <0.0006] < 0.1 < 0.0005
Ba (2,4,5,6,8) < 0.0003 ] < 0.01 < 0.1 < 0.0005| < 0.001 | <0.00L | <0.001 | <0.08 <001 < 00003 | <0.002 | <0.0006| < 0.1 < 0.0005
Bb (2,4,5,6,8) < 0.0003 | < 0.01 <0.1 < 0.0005| < 0.001 | <0.001 | <0.001 0.55 <001 < 00003 | < 0.002 [ <0.0006] < 0.1 < 0.0005
Be (2,4,5,6,8) < 0.0003 | < 0.01 < 0.1 < 0.0005] < 0.001 | < 0.001 0.002 0.48 002 < 00003 | <0.002 | <0.0006| < 0.1 < 0.0005
Bd (2,4,5,6,8) < 0.0003 | < 0.01 <0.1 < 0.0005 | < 0.001 | < 0.001 0.001 0.52 002 < 00003] < 0.002 [ <0.0006] < 0.1 < 0.0005
Be (1,2,3) < 0.0003 | < 0.01 < 0.1 < 0.0005| < 0.00L | <0.001 | <0.001 0.89 002 < 00003 | <0.002 | <0.0006| < 0.1 < 0.0005
Ca (2,4,5,6,8) < 0.0003 | < 0.01 <0.1 < 0.0005| < 0.001 | <0.001 | <0.001 0.55 <001 < 00003 | < 0.002 [ <0.0006] < 0.1 < 0.0005
Cb (2,4,5,6,8) < 0.0003 | < 0.01 < 0.1 < 0.0005| < 0.001 | <0.001 | <0.001 0.56 <001 < 00003 | <0.002 | <0.0006| < 0.1 < 0.0005
Ce (2,4,5,6,8) < 0.0003 | < 0.01 <0.1 < 0.0005 | < 0.001 0.001 | < 0.001 0.82 002 < 00003] < 0.002 [ <0.0006] < 0.1 < 0.0005
Cd (2,4,5,6,8) < 0.0003 | < 0.01 < 0.1 < 0.0005 | < 0.001 0.001 | < 0.001 0.68 002 < 00003 | <0.002 | <0.0006| < 0.1 < 0.0005
Ce (1,2,3) < 0.0003 | < 0.01 <0.1 < 0.0005] < 0.001 | <0.001 | <0.001 1.2 001 < 00003| < 0.002 [ <0.0006] < 0.1 < 0.0005
Da (2,4,5,6,8) < 0.0003 | < 0.01 <0.1 < 0.0005] < 0.001 [ <0.001 0.003 0.60 005 < 00003 ] < 0.002 [ <0.0006]| < 0.1 < 0.0005
Db (2,4,5,6,8) < 0.0003 | < 0.01 <0.1 < 0.0005 | < 0.001 | < 0.001 0.002 0.59 004 < 00003] < 0.002 [ <0.0006] < 0.1 < 0.0005
De (2,4,5,6,8) < 0.0003 | < 0.01 <0.1 < 0.0005] < 0.001 [ < 0.001 0.002 0.49 008 < 00003 ] < 0.002 [ < 0.0006]| < 0.1 < 0.0005
Dd (2,4,5,6,8) < 0.0003 | < 0.01 <0.1 < 0.0005 | < 0.001 0.001 | < 0.001 0.50 002 < 00003| < 0.002 [ <0.0006] < 0.1 < 0.0005
De (1,2,3) < 0.0003 | < 0.01 <0.1 < 0.0005 ] < 0.001 | <0.001 | < 0.001 0.59 <001 < 00003 ] < 0.002 [ <0.0006]| < 0.1 < 0.0005
Ea (1,4,5,6,8) < 0.0003 | < 0.01 <0.1 < 0.0005| < 0.001 | < 0.001 0.003 0.42 004 < 00003| < 0.002 [ <0.0006] < 0.1 < 0.0005
Eb (2,4,5,6,8) < 0.0003 | < 0.01 <0.1 < 0.0005 ] < 0.001 | <0.001 | < 0.001 0.63 001 < 00003 ] < 0.002 [ <0.0006]| < 0.1 < 0.0005
Ec (2,4,5,6,8) < 0.0003 | < 0.01 <0.1 < 0.0005| < 0.001 | < 0.001 0.003 0.44 002 < 00003] < 0.002 [ <0.0006] < 0.1 < 0.0005
Ed (2,4,5,6,8) < 0.0003 | < 0.01 <0.1 < 0.0005 | < 0.001 0.001 | < 0.001 0.53 001 < 00003 ] < 0.002 [ <0.0006]| < 0.1 < 0.0005
Ee (1,2,3) < 0.0003 | < 0.01 <0.1 < 0.0005] < 0.001 | <0.001 | <0.001 0.70 <001 < 00003| < 0.002 [ < 0.0006]| < 0.1 < 0.0005
Fa (4,5,6,7,8) < 0.0003 | < 0.01 <0.1 < 0.0005 | < 0.001 0.001 | < 0.001 0.73 004 < 00003 ] < 0.002 [ <0.0006]| < 0.1 < 0.0005
Fb (1,4,5,6,7) < 0.0003 | < 0.01 <0.1 < 0.0005] < 0.00L | <0.001 | <0.001 0.67 001 < 00003] < 0.002 [ <0.0006] < 0.1 < 0.0005
Fe (1,4,5,6,7) < 0.0003 | < 0.01 <0.1 < 0.0005] < 0.001 | <0.001 | <0.001 0.41 <001 < 00003 ] < 0.002 [ <0.0006] < 0.1 < 0.0005
Fd (1,4,7,8,9) < 0.0003 | < 0.01 <0.1 < 0.0005 | < 0.001 0.001 | < 0.001 0.49 002 < 00003] < 0.002 [ <0.0006] < 0.1 < 0.0005
Fe (1,2,3) < 0.0003 | < 0.01 <0.1 < 0.0005] < 0.001 | <0.001 | <0.001 0.33 <001 < 00003 ] < 0.002 [ <0.0006] < 0.1 < 0.0005
Ga (2,4,5,6,9) < 0.0003 | < 0.01 <0.1 < 0.0005| < 0.001 | < 0.001 | < 0.001 1.7 <001 < 00003] < 0.002 [ <0.0006] < 0.1 < 0.0005
Gb (3,4,5,6,9) < 0.0003 | < 0.01 <0.1 < 0.0005] < 0.001 | <0.001 | <0.001 0.41 <001 < 00003 ] < 0.002 [ <0.0006] < 0.1 < 0.0005
Ge (3,4,5,6,9) < 0.0003 | < 0.01 <0.1 < 0.0005] < 0.00L | <0.001 | <0.001 0.29 <001 < 00003] < 0.002 [ <0.0006] < 0.1 < 0.0005
Gd (3,6,7,8,9) < 0.0003 0.01 <0.1 < 0.0005] < 0.001 | <0.001 | <0.001 0.33 <001 < 00003 ] < 0.002 [ <0.0006] < 0.1 < 0.0005
Ge (1,2,3) < 0.0003 | < 0.01 <0.1 < 0.0005] < 0.00L | <0.001 | <0.001 0.67 001 < 00003] < 0.002 [ <0.0006] < 0.1 < 0.0005
Ha (2,4,5,6,8) < 0.0003 | < 0.01 <0.1 < 0.0005] < 0.001 | <0.001 | <0.001 0.08 <001 < 00003 ] < 0.002 [ <0.0006] < 0.1 < 0.0005
Hb (2,4,5,6,8) < 0.0003 | < 0.01 <0.1 < 0.0005] < 0.00L | <0.001 | <0.001 0.13 <001 < 00003] < 0.002 [ <0.0006] < 0.1 < 0.0005
He (2,4,5,6,8) < 0.0003 | < 0.01 <0.1 < 0.0005] < 0.001 | <0.001 | <0.001 0.54 <001 < 00003 ] < 0.002 [ <0.0006] < 0.1 < 0.0005
Hd (1,2,3,4,7) < 0.0003 | < 0.01 <0.1 <0.0005 | < 0.001 0.001 | < 0.001 0.44 <001 <00003] < 0.002 [ <0.0006] < 0.1 < 0.0005
He (1,2,3) < 0.0003 | < 0.01 <0.1 < 0.0005| < 0.001 | <0.001 | <0.001 0.47 <001 < 00003 ] < 0.002 [ <0.0006] < 0.1 < 0.0005
la (1,4,7) < 0.0003 | < 0.01 <0.1 < 0.0005] < 0.001 | <0.001 | < 0.001 0.17 <001 < 00003| < 0.002 [ <0.0006] < 0.1 < 0.0005
b (1,4,7) < 0.0003 | < 0.01 <0.1 < 0.0005| < 0.001 | <0.001 | <0.001 0.20 <001 < 00003 ] < 0.002 [ <0.0006] < 0.1 < 0.0005
le (1,4,7) < 0.0003 | < 0.01 <0.1 < 0.0005] < 0.001 [ <0.001 | < 0.001 0.18 <001 < 00003| < 0.002 [ <0.0006] < 0.1 < 0.0005
Id (1,4,7) < 0.0003 | < 0.01 <0.1 < 0.0005| < 0.001 | <0.001 | <0.001 0.54 <001 < 00003 ] < 0.002 [ <0.0006] < 0.1 < 0.0005
le (1,2,4) < 0.0003 | < 0.01 <0.1 < 0.0005] < 0.001 [ <0.001 | < 0.001 0.44 <001 < 00003| < 0.002 [ <0.0006] < 0.1 < 0.0005






